Healgen VirCell Siemens Roche Abbot MonLab
E;Zﬁifjnce Statistic value 95% Cl | Vvalue 95%Cl |value  |95%Cl |value |95%Cl |value |95%Cl |Value 95% ClI
\F;gﬁ;g"e Predictive | 10 g 100.0% 100.0% 100.0% 100.0% 100.0%
1% s:ﬁﬁ“’e Predicive | g9 70, |99.5.99.7 [99.8%  |99.7-09.8 [99.8%  [99.7-09.9 |99.7%  [99.6:99.8 |99.7%  |99.6-99.8 |99.6% 99.5-99.7
96.5- 96.8- 96.6- 96.6- 96.1- 96.5-
0, 0, 0, 0, 0, 0,
Accuracy 99.7% | Iom0 99.8%  |1050 99.8%  |1o00 99.7% | Jo00 99.7% |10 99.6% 1050
\F;gf'dté"e Predictive | 10 g 100.0% 100.0% 100.0% 100.0% 100.0%
50 \N/Sﬁljae“"e Predictive | 95 305 |97.6-98.7 [98.8%  |98.2-99.2 |98.9%  [98.3-99.3 [98.6%  |98.0-09.1 |98.6%  |98.0-99.0 |98.2%  |97.5-98.6
Accuracy 98.3%  |94.3-99.8 [98.9%  [95.2-99.9 [99.0%  [95.2-99.9 [98.7%  |94.8-99.9 [98.7%  |94.9-99.9 |98.2% 94.2-99.7
Posttive  Predictive | 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
0 Negative — Predictive | g6 40 |952.97.4 |97.5%  |96.3-98.3 [97.8%  |96.5:98.6 [97.2%  |95.9-08.0 |97.1%  |95.9-98.0 |96.2% 95.0-97.2
10% Value
Accuracy 96.7%  |91.9-99.0 [97.7%  |93.4-995 |97.9%  |93.6-99.6 |97.4%  |92.8-99.4 [97.3%  |92.9-99.4 |96.5% 91.6-98.9
Posttive  Predictive | 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
15% \N/S%ae“"e Predictive | 94 406 | 925959 [96.1%  |94.3-97.4 |96.5%  [94.6-97.7 |95.6%  |93.7-96.9 [955%  |93.7-96.8 |94.1%  |92.2-95.6
Accuracy 95.00% |89.7-98.1 [96.58% |91.8-99.0 |96.92% [92.1-99.2 |96.05% |91.0-98.7 [96.01% |91.0-98.7 |94.68% |89.3-97.9
\P/glsdg"e Predictive | 1 50,00% 100.00% 100.00% 100.00% 100.00% 100.00%
20% \leﬁjae“"e Predictive | 55 3106 |89.8-04.3 |94.61% |92.1-96.3 [95.11% |925.96.8 |93.83% |91.2-959 |93.77% |91.2-956 |91.86% |89.3-93.8
Accuracy 93.33% |87.5-97.0 [95.44% |90.3-98.3 |95.89% [90.7-98.6 |94.74% |89.3-97.9 [94.68% |89.3-97.9 |92.91% |87.0-96.7

Supplementary table 1: Simulation of the overall VRB, PN an

and 20%.

accuracy of every test according to prevalence of the 1, 5, 10, 15
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Could you put a single decimal in all the values ​​corresponding to the 20% range?




